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Day-7 – Session-II – Set-N – Hindi - Paper-III 

1. These are necessary for a person to excel in any work or in any 

 profession  

1. Interest and Attitude 

2. Aptitude and Interest 

3. Attitude and Creativity  

4. Learning and Maturity   

2. The memory used by a 4 year old child in reciting English Rhymes 

1. Rote Memory 

2. Sensory Memory 

3. Logical Memory 

4. Active Memory 



2 
 

3. Hypothetico – deductive reasoning is formed in this cognitive stage 

 of piaget 

1. Pre-operational stage 

2. Formal operational stage 

3. Sensory motor stage 

4. Concrete operational stage 

 
4. The chief aim of Inclusive Education is to satisfy different type of 

 needs of children of this category 

1. Needs of all the learners 

2. Needs of children with special needs 

3. Needs of children with learning disability 

4. Needs of normal learners 
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5. The age of children who are facing the psycho social critical 

 situation i.e., known as “Initiative vs Guilt” is 

1. Birth to 1
2
1 years 

2. 1
2
1  to 3 years 

3. 6 to 12 years 

4. 3 to 6 years 

Initiative Vs

1
2
1  

1
2
1  

6. The learning principle involved in learning type writing is 

1. Law of Exercise 

2. Law of effect 

3. Law of Extinction 

4. Law of Readiness 
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7. The administrative purpose of Evaluation is   

1. Accountability 

2. Curriculum construction 

3. Utility to society 

4. To improve teaching 

 
8. The student who failed in the examinations advocates himself as 

there  is no use in passing examinations – This is known is 

1. Projection 

2. Rationalization 

3. Compensation 

4. Displacement 
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9. The counseling which makes a person to find out solution for his 

problem by himself is 

1. Directive Counselling 

2. Non-directive Counselling  

3. Eclectic Counselling  

4. Special Counselling 

10. In order to get recognition in his village by speaking in English a 

 student learnt English and got recognition – The need that is satisfied 

 here is, 

1. Primary need 

2. Physical need 

3. Secondary need 

4. Economic need 
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11. The method which is appropriate to know the fear and anxiety

 experienced by a person who lost his way in a new place 

1. Observation Method 

2. Case Study Method 

3. Experimental Method 

4. Introspection Method 

12. The transfer of learning where a boy who knows cycling tries to 

 learn motor bike riding is,   

1. Negative Transfer 

2. Positive Transfer  

3. Zero Transfer 

4. Bilateral Transfer 
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13. Wrong statement with regard to interests 

1. Interests doesn’t come by birth 

2. Interests are formed through learning and experience 

3. Interests are same in all children 

4. Interest development depends on aptitudes, intelligence and 

opportunities of the children 

 
14. A boy who studied Hindi up to 10th class has written Hindi words 

 instead of Sanskrit words in his Inter Sanskrit Exam – This is due to 

1. Repression 

2. Retroactive inhibition 

3. Passive decay through disease 

4. Pro active inhibition 
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15. The main objective in the preparation of a year plan 

1. To complete the syllabus on time 

2. Preparation of Teaching Learning Material according to the 

lessons 

3. Using Teaching Learning Material according to the lessons 

4. To decide what to teach in a period 

 
16. The factor which acts as both pre-natal and post natal environmental 

factor on the personality of person 

1. Neighbours 

2. Attitude of parents 

3. Home environment 

4. Media 

  



9 
 

17. The parents of a girl appreciated her when they saw her helping poor 

with this reinforcement, she was habituated to help poor. Here the 

type of learning is, 

1. Classical conditioning  

2. Observational learning 

3. Insightful learning  

4. Operant conditioning 

 
18. The French Psychologist who was called as ‘Father of Intelligent 

tests’ 

1. William Stern 

2. C. M. Bhatia 

3. Alfred Binet 

4. L.M. Terman 
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19. Mc Iver’s saying that “The reason for my today’s position is due to 

my yesterdays thinking about what should I be tomorrow” is the best 

example for   

1. Internal Motivation 

2. Achievement Motivation 

3. External Motivation 

4. Ability Motivation 

 

1.  

2.  

3.  

4.  
 

 

20. The development which occurs only due to time and age but not due  

to the effect of training and environment is, 

1. Language Development 

2. Moral Development 

3. Maturity 

4. Adjustment 
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21. Collaborative and Cooperative learnings are 

1. Child centered 

2. Teacher centered 

3. Subject centered 

4. Competency centered 

 
22. The correct order of learning steps in observational learning is   

1. Reinforcement, Attention, Retention, Regeneration  

2. Retention, Attention, Regeneration, Reinforcement 

3. Attention, Regeneration, Retention, Reinforcement 

4. Attention, Retention, Regeneration, Reinforcement 
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23. The wrong statement with respect to RTE Act - 2009 

1. Child should be admitted to the age appropriate class 

2. Do not abuse children physically and mentally 

3. If students are unable to attain the required minimum levels 

of a particular class they should continue in the same class  

4. Teaching should be done only in the mother tongue of the 

child  

RTE  – 2009 

 
24. The stage which is called as “Pre gang stage” in child development 

1. Early Adolescence 

2. Early childhood 

3. Late childhood 

4. Late Adolescence 
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25. One of the following does not affect the child’s learning in the 

school 

1. Punctuality of the teacher 

2. Syllabus 

3. Social standard of co learners  

4. Attitude of the teacher towards students 

 

26. The characteristic feature of the child who is in the 2nd stage of pre 

conventional level  

1. Behaves with an objective of getting rewards 

2. Make efforts to avoid punishments from the elders 

3. Gives prominence to the acceptance of others 

4. Follow the rules of the society to avoid blame from the 

society 
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27. Identify the odd one from the following  

1. Relearning 

2. Repression 

3. Recall 

4. Recognition 

 
28. The type of school organization which gives importance to the 

opinions of the teachers and students in preparing and organizing 

school programes is 

1. Democratic - Encouraging  

2. Undemocratic - Discouraging  

3. Undemocratic - Encouraging 

4. Arbitrary - Punishing 
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29. The theory which states that the intuitive thinking and investigative 

learning of children help them to construct their knowledge is, 

1. Bandura’s observational learning 

2. Trial and Error learning  

3. Insightful learning 

4. Bruner’s learning theory 

30. One of the following improves memory 

1. Testimony 

2. Memory span 

3. Association of ideas 

4. Narratives 
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Hindi Paper-II SET – 4 

31 32 

31.

1.

2.

3.

4.

32

1.

2.

3.

4.
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33.
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3.

4.
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40
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English – Paper- III – Set – 1 

61. A person who can do anything for money is called; 

1. misogynist 

2. fatalist 

3. teetotaler 

4. mercenary 

62. In a developed country, the development is balanced. 

 The above underlined words are; 

1. an adjective and a noun 

2. a verb and an adjective 

3. an adverb and a noun 

4. a noun and an adjective 

63. My house stands ………… all the other houses in the street as it is 
big in size. 

 Choose the correct compound prepositional phrase that fits the 
context. 

1. in front of  

2. apart from 

3. in addition to 

4. in accordance with 
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64. He had completed his project work, before he went to play. 

 The tenses of the underlined words are; 

1. simple past and simple present 

2. past continuous and simple present 

3. past perfect and simple past 

4. past continuous and simple present 

65. He was particular about his handsomeness …… he was unmarried. 

 The correct linker in the sentence is; 

1. because 

2. but 

3. which 

4. or 

66. If you want to know the meaning of the word, you could refer …… a 
dictionary. 

 The correct preposition in the context is; 

1. in 

2. on 

3. to 

4. of 
 

67. I went to the air-port to say good bye to my sister, 

 Choose the correct phrasal verb that means the underlined words. 

1. drop off 

2. see off 

3. set on 

4. dash off 
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68. My brother plays ……. guitar well. 

 The correct article in the blank is: 

1. the 

2. an 

3. a 

4. no article is needed 

69. He is preparing ………. for his exams. 

 The correct form of the word in the context is; 

1. serious 

2. seriousness 

3. seriouses 

4. seriously 
 

70. The Chief Minister might visit the village today. 

 The underlined modal auxiliary stands for; 

1. compulsion  

2. possibility  

3. obligation 

4. order 
 

71. He does not like coffee. 
 He does not like tea. 
 The above sentences can be combined by using; 

1. so 

2. but 

3. either - or 

4. neither … nor 
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72. Soon after the examinations …. over, Mom …. Preparations for the 
trip. 

 The correct verbs that suits in the above sentence are; 

1. are, making 

2. is, make 

3. were, made 

4. is, makes 

 

73. Read the following sentences carefully. 

a. She was able to convey a wide range of  feelings through her 
expressive eyes. 

b. captivates every one 

c. her mischievous look 

d. Savitri captured the audience with her charm and magnificent 
acting. 

The correct sequence of the sentences is: 

1. b  c  d  a 

2. d  a  c  b 

3. b  c  a  d 

4. d  a  b  c 

74. He said, "what have you been doing here for the last ten days".

The correct reported speech for the above direct speech is  

1. He asked that what I had been doing there for the last ten 
days. 

2. He asked me what I had been doing there for the last ten days. 

3. He asked me if I had been doing there for the last ten days. 

4. He told me that I had been doing there for the last ten days. 
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75. The correct sentence among the four is 

1. The tiger felt sharp kick on his side. 

2. The tiger terrified and it runs through the dark forest. 

3. He asked his wife for some palm-wine. 

4. When I catch him, I would give him a good beating. 

76. Many Countries are thinking of abolishing capital punishment. 

 The underlined idiom 'Capital punishment' means 

1. Total punishment  

2. Punishment in the capital 

3. Death sentence 

4. Stop giving capital 

77. The correct simple sentence for the complex sentence  

 If you neglect your studies, you will be in deep trouble is  

1. Neglect your studies and you will be in deep trouble. 

2. Unless you neglect your studies, you will not be in deep 

trouble. 

3. In the event of neglecting your studies, you will be in deep 

trouble. 

4. You must neglect your studies or else you will not be in deep 

trouble. 
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78. I have had tea. 

 The correct question tag for the above statement is 

1. had I ? 

2. hadn't I 

3. haven't I ? 

4. have I ? 

79. The proper subscription for an editor of a newspaper is 

1. Yours sincerely, 

2. Yours obediently, 

3. Yours lovingly, 

4. Yours truly 

80. The conjunction which is used in a compound sentence is; 

1. if 

2. so that 

3. that 

4. so 

 

81. The correct complex sentence for the simple sentence 

 'He is too young to learn French.' is 

1. He is very young so he cannot learn French. 

2. He is so young but he cannot learn French. 

3. He is so young that he cannot learn French. 

4. He is so young that he could not learn French. 
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 Read the passage given below carefully and choose the correct 
answers to the questions [82-84] that follow. 

 The Country now needs a new equilibrium, a new spirit of national 
reconciliation, that can be brought about only by moving forward to 
the new frontiers of true equality, fuller opportunities and greater 
compassion for the weaker sections of its people. Our goal is total 
freedom for the people that can fully reflect the urges and aspirations 
for better life. We cannot remain content by merely revealing our 
past even under conditions of complete freedom without a matching 
concept of the present and the future. 

 

82. The word used in the sense of 'a state of balance' is  

1. spirit 

2. reconciliation  

3. compassion 

4. equilibrium  

 

83. The writer says that the weaker sections 

1. should be awakened 

2. need better opportunities and more sympathy 

3. need true equality 

4. need cultural awareness 

 

84. We cannot remain satisfied with the past: we should think of 

1. only the past 

2. present and future 

3. matching present with the past 

4. going back to the past 
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85. At the primary level, learners can use this kind of Dictionary  

1. an Advanced Dictionary  

2. a Thesaurus  

3. a Picture Dictionary 

4. an Encyclopedia 

 

86. Some words may be important only for a given piece of text or 
information. Such words may be classified as; 

1. Active Vocabulary 

2. Recognition Vocabulary 

3. Adhoc Vocabulary 

4. Receptive Vocabulary 

 

87. The first method tried to teach English in India was 

1. Bilingual method 

2. Structural method 

3. Grammar translation method 

4. Situational method 

 

88. One of the features of language mentioned below is wrong. Identify 
it. 

1. Language is systematic 

2. Language is arbitrary 

3. Language is not extendable 

4. Language transmits culture 
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89. Rising tone / intonation is not used in: 

1. 'wh' questions 

2. requests 

3. greetings 

4. commands 

 

90. Listening to poetry, plays on the radio and stories comes under: 

1. Listening to evaluate 

2. Listening to communicate  

3. Listening for enjoyment 

4. Listening to solve problems 
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Hindi Paper-III SET – I 

 
91. 

1.

2.

3.

4.
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1. 1300 

2. 1600 

3. 1500 

4. 1200 
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120 He took out the necklace of pearls from his pocket. 

1.

2.

3.

4.
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2. 195  

3. 185  

4. 165  
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2. 5 10

3.

4. 5 10
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